rgby input and LCh* 4, output of BAM colours

Device colour rgby LCh*y
C=Cy cyan blue (cyan) 011 58,58234
V=Bd violet blue (blue) 001 28,52,303
M=Mgmagenta red (magentd) 0 1 47, 74,351
O=R; orange red (red) 100 51,8238
Y=Yy yellow 110 89,9093
L=Gq leaf green (green) 010 49,71,150
N black 000 95,0,0
W white 111 19,0,0

BAM 5 step colour series in CIELAB colour space
CIELAB ligthness L*

w 3 anker colour pairs
LCh* =95, 0, 0%\100 0@ 0 @0
rgby=1, 1, 1 3 triplet colour series
o 5seps @+ 00 @+O

magenta redM=My

5 steps Z
LCh*\,=47, 74,351

N rgby=1, 0, 1
LCh*\=19, 0, 5 steps
1gby=0,0,0 0] 100
0 CIELAB chroma C%j
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